Quantile-Quantile Plots

Stream Sediment Chemistry

QQ plots for stream sediment chemistry data (listed alphabetically, from Al2O3
to Zr), are provided on the following pages (4-13).



AL203: Normal QQ Plot
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Arsenic: Lognormal QQ Plot
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Barium: Lognormal QQ Plot
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CaO: Normal QQ Plot
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Cerium mg/kg

Cerium: Lognormal QQ Plot
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Copper mg/kg

Copper: Lognormal QQ Plot
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Fe203: Normal QQ Plot
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Mercury: Lognormal QQ Plot

10.000

1.000

0.100

Mercury mg/kg

0.010 R
_—

&

0001 T T T T T T

1
N
1
w
1
N
1
—
o
—
N
w

Standard Normal Value




K20 weight percent

K20: Normal QQ Plot
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Lanthanum: Lognormal QQ Plot
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MgO: Normal QQ Plot
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Na20: Normal QQ Plot

5
54
o
Q
Qo 3
=
K=y
[}]
s 2
(@)
?
3 1
0 T T T
4 -2 0 2
Standard Normal Value
Neodymium: Lognormal QQ Plot
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Lead: Lognormal QQ Plot
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Scandium: Lognormal QQ Plot
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SiO2: Normal QQ Plot
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Strontium: Lognormal QQ Plot
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Thorium: Lognormal QQ Plot
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TiO2: Normal QQ Plot
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Vanadium: Lognormal QQ Plot
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Yttrium: Lognormal QQ Plot
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Zinc: Lognormal QQ Plot
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Zirconium: Lognormal QQ Plot
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